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* 8H 27H (1) * 8H 28H(H)
JIEFr | IRERE | A E JNEFy | IRFRE | fE H
1 9:30 |/ +F1000m 1 9:30 |14 +1500m
2 /NF T F-1000m 2 H 55 1-1500m
3 /NF AL F-100m 3 H 22 1-200m
4 /N -100m 4 H 25 7-200m
5 H127 2 §-100m 5 H 224 -100mH(0.762m)
6 H2E 5 4-100m 6 H22 5 - 110mH(0.914m)
7 H27 55 4-3000m 7 — % % 1-100mH(0.838m)
8 H 2 1-4X100mR 8 — %% - 110mH(1.067m)
9 Hh 25 7-4X100mR 9 — £z ¥-200m
10 — 2 §-100m 10 — %% 1-200m
11 — &5 7-100m 11 — %% 1-1500m
12 — 2z ¥-3000m 12 —f % -1500m
13 — 5 ¥-5000m 13 — % £ -4X400mR
14 — %1 F-4X100mR 14 — % 5 1-4X400mR
15 — %% 1-4X100mR
1 9:30 |HF LT AEEBE 1 9:30 |HFLFAEmEBE
2 H B B R B 2 B B Bk
— 2 A Bk 1 9:30 [P TR (2.721kg)
— B A m Bk 2 o7 5 - AL $(5.000k )
1 — Mz AL (4.000kg) 1 — itz R Bk
2 R FhiE L (6.000kg) 2 — 5B - A= ek
3 — % 5 FH AL (7.260kg)
1 — 27ROV $(600g) 1 — - P $2(1.000k g)
2 — 5 1oV (800g) 2 - P (1. 750k g)
3 —fix 5 - M $2(2.000kg)




